AV INASEEF 9
Racc # M2 #HFE B

Racc [F/N\—H—D xR —43

@ aNRAZAVNAZIE BR(TH3Y)
HAUNAZAVNNATEBEETEMTS
(R&E),

@(l,b\L“ Raccl&RubyTZ£Z, yaccldCTE

@ M lE. Racctdyaccld (Bisont... )
[IS—HY—DxRL—R | THDEWNSITEE
EKI S

Racc DS RIE1

@ calcy ZBUEL T REENTEDH LI
LTTREW REFEEF(ET. —XFOD
"ATELELED,

=17 ? 2A3A4
%TTT%& = 2417851639229258349412352
$ ruby calcp.rb

? -2A(3M4)
type "Q" to quit. = -2417851639229258349412352
? 4A2A3
= 65536

~)

? 2A3
8

? -4A(2A3)
= -65536

?

?

YIS H

N

788, XFFI O ABEORITXFEOEHOLBEIZTVFLES,
YA

XFHIKLTE, N EFEGYRITOERICIZELEEA.

EAXF, [ ¥¥n¥r¥f] ERIC

¥1,¥2 ... ¥n
%7888 (back reference),

®AESR

nBEOFIM(ERRKIE () Y L—ELD)TYFLEXEIZIYFLET

51l: show_regexp("Hello to the the world", /(¥w+ )¥1/)

REXEDEAADEH

® 2IEHEEFLOT, thD2IEEEF LM
FRIZEZ N LU

& EAE (BEIEA) (X, ¥/ &Y L7, BIE
EEFIYB LA
274 = - (27\4)

@ A#EA (right associative) TH S
x 2/374 = 2A(374)

Racch##E & 782

@ FE/INMABIKRRDESICTS,

@ Ruby IFZEHIZERALV=H, FLT. S$%5>TWRE
BIZHEINGEN O BIERBFEOAHEAREET NI, &
N

@ scannerMZEETIT

CCICERRBEAND
case str CCIS. XFHhBT
when /¥A¥s+/ /E?J/J\%Iﬁ.ﬁf\o)iﬂ
when EAND

@q.push [:NUMBER, |
when /¥A¥d+/
@q.push [:NUMBER, $&.to_i]




Ruby ## &

& E5l: EFROEM-HIBR
@ push AYYREFERALT, BEIICERZEMTHILN
TED, irb(main):001:0> a = [1,2,3,4]
=>[1,2,3,4]
irb(main):002:0> a.push(10)
=>[1, 2, 3,4, 10]
irb(main):003:0>

X3 pog ><‘J JF%EFEL'C I DREBEOERERYET

irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>1[1,2,3,4]
irb(main):005:0>

Ruby #i&: /\wia

@ BITIK, AT vIRERAVTCERERET . /\Y
ATk F—EFENDIDERAVWTERZRET

° irb(main):001:0> h = Hash::new

=>{}
irb(main):002:0> h['apple'] = 150
=> 150

irb(main):003:0> h['banana'] = 200
=> 200

irb(main):004:0> h['lemon'] = 300
=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}
irb(main):006:0> h['apple']

=> 150

irb(main):007:0>




